



$$\begin{aligned}
 6 \text{ (c)} \quad & 3\frac{1}{4} \times 6 \\
 & = \frac{13}{4} \times 6^3 \\
 & = \frac{39}{2} \\
 & = 19\frac{1}{2}
 \end{aligned}$$

$$\begin{aligned}
 7 \text{ (a) ii} \quad & \frac{1}{2} \text{ of } 4\frac{2}{9} \\
 & = \frac{1}{2} \times \frac{38}{9}^{19} \\
 & = 2\frac{1}{9}
 \end{aligned}$$

$$\begin{aligned}
 7 \text{ (b)} \quad & 3\frac{2}{5} \times 8 \\
 & = \frac{17}{5} \times 8 \\
 & = \frac{136}{5} \\
 & = 27\frac{1}{5}
 \end{aligned}$$

$$\begin{aligned}
 7 \text{ (b) i} \quad & \frac{5}{8} \text{ of } 3\frac{5}{6} \\
 & = \frac{5}{8} \times \frac{23}{6} \\
 & = \frac{115}{48} \\
 & = 2\frac{19}{48}
 \end{aligned}$$

$$\begin{aligned}
 7 \text{ (a) i} \quad & \frac{1}{2} \text{ of } 2\frac{3}{4} \\
 & = \frac{1}{2} \times \frac{11}{4} \\
 & = \frac{11}{8} \\
 & = 1\frac{3}{8}
 \end{aligned}$$

$$\begin{aligned}
 7 \text{ (b) ii} \quad & \frac{5}{8} \text{ of } 9\frac{2}{3} \\
 & = \frac{5}{8} \times \frac{29}{3} \\
 & = \frac{145}{24} \\
 & = 6\frac{1}{24}
 \end{aligned}$$